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ES SR
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SIEMEISH, SIBSENS, SIStENSR
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HEHE S ol S SEE

THEE S oK (A) 10,510 9,278 -11.72

L2HsH(B) 0.00

HEO0I90XH (FA)(2E) =XHAHESH(C=A-B) 10,510 9,278 -11.72

@ £ 5H F 4(D) 9,455 8,580 -9.26

JIEJ1A (E=C/Dx1000) 1,111.58 1,081.43 -2.71

EF(Class)& J|EJHA & &
H=0I90XH (F=21)A J|&EoH=A 1,014.78 983.99 -3.03
H=0I90XH (F=41)Ae J|&EoH=A 1,022.79 992.68 -2.94
HE0I90XH (3=4!)CH JIEIH=A 990.53 958.66 -3.22
HE0I90XH (F=41)C2 J|&EoH=A 989.85 959.35 -3.08
HE0I90XH (Z=4!)C4 JIEIH=A 1,025.56 995.00 -2.98
HE0I90XH (F=4!)Ce J|&EoH=A 1,021.22 990.82 -2.98
H=0I90XH (F=4A)C-W JIEIH=A 1,035.42 1,005.87 -2.85
HS0I90XH (=41)S J|&EoH=A 1,033.47 1,005.50 -2.71
HE0I90XH (F=4!)S-P JIEIH=A 1,033.77 1,005.79 -2.71
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ST=0I90AH (= A)(28) | 2016.10. 2, 187 §.580 1081.43 1059.62
S{=090XH (=24)A___| 2018.10. 2, 0 7707 983.99 983.99
S1=0190XH (X 4)Ae | 2018.10. 2, 0 73 992.68 992.68
1= 0/90XH (=A)C1__| 2018.10. 2, 0 3 958.66 958.66
1= 0190%H (FA)C2__| 2018.10. 2. 0 959.35 959.35
SI=0/90XH (= 4)C4___| 2018.10. 2, 0 7476 995 995
S1=0I90XH (4)Ce___| 2018.10. 2, 0 120 990.82 990.82
H=0190KH (R A)C-W__| 2018.10. 2. 0 2 1005.87 1005.87
S1=0190%H (2405 ___| 2018.10. 2. 0 7005.5 7000
ST=0I90XH (=4)5—P__| 2018.10. 2. 0 1005.79 7000
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BHE 222 A 224 J|1E -3.03%2 Hl WK% HHl 3.65%p &2 =2 JI=5IASLICH
p SXEE L 2E HE
92 KOSPI Xl&= M HH| +0.87% Al 8t 2,343.07pt2 0+2H(28L DI F)SHASLICH =0 NHS0IE LR S5 AHHE 2
B AEZ20 22| VA S 2EOUE LAUCR AER S5 E0H0I0IA SFIE/UD, 01E SESHO| (520 &AW UE Iz
EXA S ARIDF HEEIASLICH B8R $¢(+14 1%), I XI(+10.1%), SAI(+7.6%) SO0l ZAHZE UG 8o, H2A(-
6.3%), Bt HI(-5.6%), CIAZHI0(-5.4%) S ANE 2 SLICH S5l 1T S0 THE L2240t A2LE, 32| AN AIE HIRE
U BHEHIILES A2 USE AOZ WAL HHHE SHHAE $S8 S50/ 0100t AUCID BUELICH RSN 2
SAM0| ASDX S FIAEQ MeE Hetel o otetd= ChA JEE J2 2 BEg s=EZUHAM HsE ZAILXISE 22
HYELICEH
PIIZ(FH) =8 (&40 - %)
22 22 32 22 602 EEEYE 2 12002
HE0I90XH (FAN)(2E) -2.71 -3.76 -3.35 -1.75
(HIR X< CHHI &2 (-3.33) (-4.59) (-4.67) (-3.48)
ZZ(Class)d & &t
HE0I90XH (FANA -3.03 -4.40 -4.30 -3.03
(HI Xz CHH| & 1}) (-3.65) (-5.23) (-5.62) (-4.76)
HE20I90XH (=41)Ae -2.94 -4.22 -4.04 -2.68
(HIR Xl <= CHHI &2 (-3.56) (-5.05) (-5.36) (-4.41)
HE0I190KH (F=4!)CH -3.22 -4.76 -4.83 -3.76
(HIm X< CHHI & 1t) (-3.84) (-5.59) (-6.15) (-5.49)
HE0I90KH (=412 -3.08 -4.51 -4.49 -4.06
(HIm X< CHHI & 1) (-3.70) (-5.34) (-5.81) (-5.45)
HE0I190XH (F=41)C4 -2.98 -4.29 -4.14 -2.82
(HIm X< CHHI & 1) (-3.60) (-5.12) (-5.46) (—4.55)
HE0I90KH (F=4!)Ce -2.98 -4.29 -4.13 -2.80
(HIm X< CHHI & 1) (-3.60) (-5.12) (-5.45) (-4.53)
HE0I90XH (=41)C-W -2.85 -4.04 -3.77 -2.31
(HI X2 ChHl &) (-3.47) (—4.87) (-5.09) (-4.04)
H=0I90XH (F41)S -2.71 -3.76 -3.35 -1.75
(HIR X<~ CHHI &2 (-3.33) (-4.59) (-4.67) (-3.48)
H=0[90XH (F4!)S-P -2.71 -3.76 -3.35 -1.75
(HIR X<~ CHHI &2 (-3.33) (-4.59) (-4.67) (-3.48)
CDSC E2HE Sg £ E
CDSCEg 42 E -2.98 -4.29 -4.14 -2.82
(HIR X< CHHI &2 (-3.60) (-5.12) (-5.46) (-4.55)
HI W X 4= (#XI0t3) 0.62 0.83 1.32 1.73
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#* 9 ENANS B HUE UEHE # 0j2e 28418 26t= A2 otdUT
e 214 2 2d 2 34 Z 2 54
HE0I90XH (FA)(2E) -1.75 2.01 2.41 10.75
(HIm X4 CHHI & 1) (-3.48) (-2.27) (-4.04) (-2.28)
E%(Class)g & &
HE0I190KH (FANA -3.08 -0.62 -1.60 3.47
(HIm Xl <= CHHI & D) (-4.76) (-4.90) (-8.05) (-9.56)
H=0I90XH (F4))Ae -2.68 0.10 -0.53 -
(HIR Xl <= CHHI &2 (-4.41) (-4.18) (-6.98) -
HE0I190KH (=41)CH -3.76 -2.12 -3.84 -0.43
(HIm Xl <= CHHI & D) (-5.49) (-6.40) (-10.29) (-13.46)
HE0[90XH (=4!)C2 -4.06 -2.63 -4.05 -
(HIm X< CHHI & D) (-5.45) (0.57) (-2.86) -
HE0/190KH (3=41)C4 -2.82 - - -




(HI X2 CHHl &) (-4.55) - - -
HE0I90KH (=ANCe -2.80 -0.16 -0.92 -
(HIm X< ChHl & 34) (-4.53) (-4.44) (-7.37) -
HE20I90KH (F=ANC-W -2.31 0.85 0.59 -
(HID X4 Chl A1) (-4.04) (-3.43) (-5.86) -
HE=0190XH (=41)S -1.75 2.02 - -
(HIm X4 ChHl & 34) (—-3.48) (-2.26) - -
HEZ0I90XH (F4!)S-P -1.75 2.02 - -
(HIm X4 ChHl & 34) (—-3.48) (-2.26) - -
CDSC H#E28HCE E§ 498
CDSCE& 42 s -0.10 -0.10 -2.27 -0.34
(WX Yl &1t (-4.55) - (-1.88) (-10.64)
Hl WX 4= (I XI0F3) 1.73 4.28 6.45 13.03
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¥ A SN2 UH HAUE LIEIE 2 0lde 2SS4 UE E&6l= X2 otg LI
P =SS EE R
=3 I ALE EEP EPINEEL _
= = b A0l 5+
TE =a ] = | os [mz=n] =u | 7o | "oF [FEa] om S s
M| | -475 4 0 -2 354 0 0 0 0 7 -1 -115
e | -257 4 0 -26 —12 0 0 0 0 7 -5 -288
3. Aok &
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%iL%‘ _ =3 _ THA AL E e ST} c+3|cH§ 2 g | nazo
= =4 2 g | agsEx | ZUH Z 9 ASTa JIE 0l =
KRW 7,941 577 0 0 12 0 0 0 0 918 -169 9,278
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p =X &= (CHSI: BHOKRI %)
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5 24 ZH| 6.37 10 JIEF 12.45
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NEETS 0 0.14 0 0.14
TE 0 0.09 0 0.09
AHS 2| AF(A EF 0 0.00 0 0.00
NEEEER 0 0.00 0 0.00
=25 0 0.24 0 0.24
15019021 (F4])Ae ENERR 0 0.00 0 0.00
CH==OHOH, = R 0 0.10 0 0.19
TAIESESR S
A& ~nm 0 0.29 0 0.29
& 0 0.38 0 0.47
EEPIE 0 0.49 0 0.50
NEETS 0 0.14 0 0.14
R 0 0.37 0 0.38
EEEINREE]S 0 0.00 0 0.00
ENEEREN 0 0.00 0 0.00
EEEE 0 0.51 0 0.52
1=0[902H (F=4)C1 JIEHHI & #2 0 0.00 0 0.00
RS 0 0.10 0 0.19
TAEAYR S
WA na 0 0.29 0 0.29
& 0 0.38 0 0.47
EEBIE 0 0.49 0 0.50
NEEIN 0 0.12 0 0.11
ZHOH 5] AF 0 0.28 0 0.27
REEEINREER 0 0.00 0 0.00
NEEEER 0 0.00 0 0.00
BRI 0 0.40 0 0.38
H=0[90A11 (F4)C2 ETEES 0 0.00 0 0.00
CHEORON, 0= 0 0.09 0 0.18
TAESHSR S
AHIA ~he 0 0.30 0 0.28
EEl 0 0.39 0 0.47
EEPIE 0 0.50 0 0.49
NEETS 0 0.14 2 0.14
ENE 0 0.12 2 0.13
EEEINAE 0 0.00 0 0.01
NEEEER 0 0.00 0 0.01
=435 5 0.27 4 0.27
H=0[902H (A C4 IETERS 0 0.00 0 0.00
CHEOROR, S04 0 0.10 3 0.19
TANEAYR =
WA na 5 0.29 4 0.29
& 6 0.38 7 0.47
21 2 Al 8 0.49 7 0.50
NEEIN 0 0.14 0 0.14
TE 0 0.12 0 0.12
AP 2E3| AH(AIEF Y 0 0.00 0 0.01
NEEEE 0 0.00 0 0.01
BRI 1 0.27 0 0.27
=0[90A11 (F4)Ce JIEFHI & 9 0 0.00 0 0.00
CHEORON, =04 0 0.09 0 0.19
TAEEAR =
P 1 0.33 0 0.29
BBl 1 0.42 1 0.47
21 2 Al 1 0.54 1 0.50
NEETS 0 0.13 0 0.14
TE 0 0.00 0 0.00
EEEINAE 0 0.00 0 0.00
NEEEER 0 0.00 0 0.00
=435 0 0.14 0 0.15
=0[902H (FA)C-W ETERS 0 0.00 0 0.00
CE0H0l, EHE22 0 0.10 0 0.19
TANEHUR S
QA ena 0 0.29 0 0.29
& 0 0.38 0 0.47
2 1 2 Al 0 0.49 0 0.50




THAHE S AF 0 0.00 0 0.00
ENE 0 0.00 0 0.00
HC A2 2 Bl AR EFI ) 0 0.00 0 0.00
U EHAFR BRI Sl AF 0 0.00 0 0.00
B 0 0.00 0 0.00
ZAS01904H1 (F+4)S DIEHHIE 77 0 0.00 0 0.00
oy SO SHESE 0 0.10 0 0.19
& EAERET S 0 0.29 0 0.29
BN M 22e : :
= B2 0 0.38 0 0.47
EERER] 0 0.49 0 0.50
THAHE S AF 0 0.00 0 0.00
BN 0 0.00 0 0.00
EEREESINEEED 0 0.00 0 0.00
S BHAFR B[Sl AF 0 0.00 0 0.00
R 0 0.00 0 0.00
71=0[904H1 (F4)S-P JIEtHIE *2 0 0.00 0 0.00
ooy SO0 SHE+E 0 0.10 0 0.19
. INEHYE S
BN b~ ~do 0 0.29 0 0.29
= B2 0 0.38 0 0.47
EERER] 0 0.49 0 0.50
» HEO| X AHEM(IIZHE T THH HISS LIEFLICH
= J|EHHISO0IR S HZAHIE, 52 SO 0 L ZRHIS S HENN JAE-B=EHO2 NSE HISOZN Wi-EH442= A
QB YLICH
* ABELYA WY S
HYUBELINS . HY %S
P SE2=, HIEHIE (Sl o Bhah %)
2= | 224 HEH8A ] HE-SHEFSHSB) 2 8/ (A+B)
=Bl =0.0001 0.7301 0.73
= ESUNAYE=E=)
HE0OmFAES) Pl —0.0005 1.0509 1.0504
=Bl 1.3122 0.7374 2.0496
= = Al
S 0I90RTFA0A Pl 1.3118 1.0618 2.3736
=Pl 0.9487 0.7429 1.6916
= = Al
HE0I0RT(FA)Ae Pl 0.9483 1.0773 2.0256
=Pl 2.0676 0.7328 2.8004
= KAl
HE0I0RTFACT Pl 2.0621 1.071 3.1331
=Pl 1.7793 0.4367 2.216
= K Al
A= 0I0RT(FAc2 Pl 1.6057 1.0982 2.7039
=Pl 1.0923 0.6879 1.7802
= KAl
A= 0I90RT (204 Pl 1.0917 0.9873 2.079
=Pl 1.0815 0.7128 1.7943
= K Al
A5 0I0RT(FA)ce Pl 1.0805 0.9207 2.0012
=Pl 0.5745 0.6628 1.2373
= = ANC—
S 0I0RTFAIC-W Pl 0.5739 0.9705 1.5444
=Pl =0.0003 0.7587 0.7584
= = Al
HE0I90RTFA)S Pl ~0.0006 1.0916 1.091
=Pl 0.0 0.7205 0.7205
= X AlYQ_
HE0I0RTFA)SP Pl ~0.0006 1.0916 1.091
Z=1) 24Ul SHIS(Total Expense Ratio)0l&t 2824 S BENA £Eots 'B4'% JIEHIE SUS =X ot - TU (244
8 MAX IIE)CZ Lie HIBZA Y 2812 5 SXNXIF RLE 5 22 -HIESFS LIEHSLICH
Z2) OR-EH442 HIS0I2 HHOH-BSHAHES &XHat HBTU(24HIS HLH IIF)2Z L= HISZN 1Y 2812 5 £
REXPOb SES OHOK-BIH 4420 £ES LIELICH
6. SAHAHAOHOH L
> OHOHFAIRE & SlES (Erf: ekl %)
ES = MEEER
= =9 2 = HED |2 e
625,898 37,610 567,780 36.435 160.64 637.31
=) HHBIASO0IR oY 28JI2H 5 II=8t FADIMO ZUS O oY 28I(2 5 2R8t X4/ HRIIUOZ Lhx HISYLIC
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